Frustums
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A frustrum is made by removing a small cone from a similar large cone.

The height of the small cone is 20 cm.

The height of the large cone is 40 cm. °
The diameter of the base of the large cone is 30 cm. 13
Work out the volume of the frustrum.

2 Give your answer correct to 3 significant figures. Q
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The cone has a base diameter of 20 cm and a slant height of 25 cm.

A circle is drawn around the surface of the cone at a slant height of 10 cm above the base.
The curved surface of the cone above the circle is painted grey.

Work out the area of the curved surface of the cone that is not painted grey.
Give your answer as a multiple of m
You must show all your working.
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Q10.

A solid is made by putting a hemisphere on top of a cone.
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The total height of the solid is 5x
The radius of the base of the cone is x
The radius of the hemisphere is x

A cylinder has the same volume as the solid.

The cylinder has radius 2x and height h
All measurements are in centimetres.

Find a formula for h in terms of x
Give your answer in its simplest form.
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(Total for question = 5 marks)
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Q11. The diagram shows a large tin of pet food in the shape of a cylinder.
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The large tin has a radius of 6.5 cm and a height of 11.5 cm. v- Z 7K L 3— x( (' S

A pet food company wants to make a new size of tin. _ 3
- 152¢ A2 e
The new tin will have a radius of 5.8 cm.

It will have the same volume as the large tin.

Calculate the height of the new tin. A~
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Give your answer correct to one decimal place.

(Total for Question is 3 marks) Q
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The diagram shows a container used to store oil.
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The container is in the shape of a cylinder of radius 40 cm. O ,'( le & &
The height of the oil in the container is 90 cm. : 48238%
65 litres of oil are taken from the container. = & $ Ueb c'...’) 6y 000 ~ a
1 litre = 1000 cm?. 3 0
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Work out the new height of the oil in the container.
Give your answer correct to one decimal place.
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